CHAPTER 6
NORTH AFRICA AND SOUTHWEST ASIA

INTRODUCTION

1. The countries of North Africa/Southwest Asia all achieved independence in the:

a) 18th century
b) 19th century
c) 20th century* [Pg. 311]
d) 21st century

2. Which of the following is not true of oil reserves in North Africa/Southwest Asia?

a) Oil reserves are mostly fossil fuels formed from the fossilized remains of dead animals and plants.
b) Extracted oil resources are sold at a tremendous profit on world markets.
c) Revenues from oil are distributed to the region’s people as part of the governments’ liberal social philosophies.* [Pg. 311]
d) Oil reserves are abundant in some of the countries of North Africa/Southwest Asia but totally absent in others.


I. THE GEOGRAPHIC SETTING


Multiple-Choice

3. What term does the U.S. Department of State use to describe Gaza and the West Bank?

a) Palestinian Territories* [Pg. 314]
b) Disputed Zone
c) Occupied Zone
d) Occupied Palestinian Territories

Physical Patterns

4. The climate of North Africa/Southwest Asia is best described as:

a) arid* [Pg. 314]
b) tropical
c) taiga
d) Mediterranean

5. The rift between the African Plate and the Arabian Plate is now filled by the:

a) Persian Gulf
b) Mediterranean Sea
c) Red Sea* [Pg. 314]
d) Dead Sea

6. The Tigris and Euphrates Rivers dump into the:

a) Red Sea
b) Persian Gulf* [Pg. 314]
c) Volga River
d) Dead Sea


Short-Answer

7. In North Africa/Southwest Asia, dry riverbeds are known as ____________.

Answer: wadis [Pg. 314]

8. Name the three principal rivers in North Africa/Southwest Asia, all of which have attracted human settlement for thousands of years.

Answer: the Nile, Euphrates, and Tigris rivers [Pg. 314] 



Environmental Issues
Multiple-Choice

9. In North Africa and Southwest Asia, which of the following effects is a direct result of the growth of industrial (modernized, mechanized) agriculture and manufacturing?

a) higher rates of human fertility
b) less dependence on domestic oil production
c) greater consumption of water resources* [Pg. 316]
d) urban-to-rural migration



10. Drip irrigation techniques were developed in:

a) Oman
b) Turkey
c) Israel* [Pg. 318]
d) Jordan

11. Most of Saudi Arabia’s drinking water is the result of:

a) seawater desalination* [Pg. 319]
b) groundwater pumping
c) a system of dams and dikes
d) runoff from cooling systems

12. The groundwater pumping project based in Libya that draws on ancient fossil water is known as the:

a) Libyan Pumping System
b) Great Man-Made River* [Pg. 319]
c) Aswan Dam
d) Southeastern Anatolia Project

13. Which of the following sets of countries does Turkey’s Anatolian River Basin Project directly affect?

a) Iran and Kuwait
b) Syria and Iraq* [Pg. 319]
c) Egypt and Israel
d) Yemen and Saudi Arabia

14.  Which of the following is not a possible consequence of climate change in North Africa/Southwest Asia?

a) A rise in sea level affecting the Nile Delta and its people
b) Reduced water availability and food security
c) Intense rainfall and flooding
d) Easier extraction of oil* [Pg. 320]

16. What term describes the general drying of grasslands that is causing concern in North Africa?

a) salinization
b) desertification* [Pg. 320]
c) serefication
d) bromidification


True-False

17. Environmental issues are generally less pressing in North Africa/Southwest Asia than they are in Russia and South America.

Answer: TRUE [Pg. 316]

18. The Qur’an (Koran) teaches that humans should live in harmony with their natural surroundings.

Answer: TRUE [Pg. 316]

19. The people of North Africa/Southwest Asia have a long history of water conservation.

Answer: TRUE [Pg. 316]

20. The water conservation practices of the people of North Africa/Southwest Asia ensure that the population has enough access to water now and in the foreseeable future.

Answer: FALSE [Pg. 316]




Human Patterns Over Time

Multiple-Choice

21. Which of the following statements describes the relationship between agriculture and gender roles in ancient North Africa/Southwest Asia?

a) The development of agriculture may have led to markedly distinct roles for men and women.* [Pg. 323]
b) The roles played by men and women in hunting/gathering societies remain intact as societies became more agricultural.
c) In pre-agricultural societies, men had more status than women.
d) Inheritance lines and lineage were more important in hunting/gathering societies than in settled agricultural societies.




22. The expulsion of the Jews from their eastern Mediterranean home in 73 CE led to a widespread migration known as the:

a) Wandering Jews
b) diaspora* [Pg. 324]
c) PLO
d) torah

23. Which of the following statements reflects the role of Arab Bedouins in the spread of Islam?

a) Upon Muhammad’s defeat of their armies, Islam replaced the numerous ancient faiths to which they adhered.
b) After having adopted the faith, they created a vast empire throughout and beyond the region.* [Pg. 325]
c) They created the shari’a by recording Muhammad’s words with virtually no interpretation.
d) They prevented the spread of Islam into North Africa by aligning with Britain to defeat Muhammad’s armies.

24. Which of the following was true of the Ottoman Empire?

a) It discouraged architectural and building efforts.
b) It included modern-day Spain and Portugal.
c) It encouraged religious tolerance among conquered peoples.* [Pg. 327]
d) Its capital was modern-day Ankara, Turkey.

25. Which event brought about the end of the Ottoman Empire?

a) World War I* [Pg. 327]
b) World War II
c) the Boer War
d) the African Civil War

II. CURRENT GEOGRAPHIC ISSUES

Socioeconomic Issues

Multiple-Choice

26. The term hajj represents which of the following?

a) religious law of Islam
b) collection of Muhammad’s writings
c) pilgrimage to the city of Mecca* [Pg. 328]
d) holy war against non-Arabs

27. Which is not a holy place of Islam?

a) Jerusalem
b) Makkah
c) Bethlehem* [Pg. 328]
d) Medina

28. Medina was the site of:

a) Muhammad’s birth
b) Muhammad’s burial* [Pg. 328]
c) the Islamic capital
d) Christ’s burial in the tomb

29. Islamic religious law is known as:

a) Sunni
b) Shi’a
c) shari’a* [Pg. 328]
d) hajj

30. The split in Islam between the Sunnis and Shi’ites was caused by:

a) competing claims to land
b) disagreements over the interpretation of shari’a law
c) disagreements over Muhammad’s successor* [Pg. 328]
d) conflicts over the burial place of Muhammad

31. Which of the following terms does NOT represent one aspect of the traditional family structure in North Africa and Southwest Asia?

a) matriarchal* [Pg. 328]
b) multigenerational
c) extended
d) communal

32. Which of the following is NOT a role of men from the region of Southwest Asia and North Africa when they are acting in public spaces?

a) make a living
b) raising children* [Pg. 328]
c) create alliances with other men to advance their family interests
d) bargain for goods, jobs, services, etc.


33. Why are women in rural Islamic society less likely to be strictly secluded from public spaces?

a) People living in rural places tend not to strictly subscribe to Islam and its restrictions on women’s activities.
b) Families in rural society are matriarchal, giving women the power to interpret Islamic strictures less rigidly.
c) The tasks that women are obligated to carry out must be performed outside the home.* [Pg. 328]
d) As reflected in the large size of traditional rural families, taboos on female sexuality are less strict in rural places.

34. As the textbook suggests, what is the likely origin of the idea of female seclusion in Islamic society? 

a) The idea was part of the Prophet Muhammad’s strict interpretation of his own writings in the Qur’an.
b) Food shortages during Muhammad’s lifetime fostered the idea that women should serve as full-time household food managers.
c) Colonial administrators perpetuated the idea as a mechanism of control over colonial subjects.
d) It was practiced by cultures in the region that predate Islam by thousands of years.* [Pg. 329]

35. Which country has the most restrictive policies regarding women?

a) Saudi Arabia* [Pg. 331]
b) Egypt
c) the United Arab Emirates
d) Morocco

36. The official language in all the countries of North Africa/Southwest Asia, except Israel, Turkey, and Iran, is:

a) Farsi
b) Hebrew
c) Aramaic
d) Arabic* [Pg. 332]








Changing Population Patterns

Multiple-Choices

37. The unusually large number of males in Qatar over the age of 15 is the result of:

a) the abortions of female fetuses
b) the chromosomal imbalances of the country’s women 
c) the large number of male guest workers* [Pg. 335]
d) a very low birth rate in that country

38. The largest city in North Africa/Southwest Asia is:

a) Istanbul
b) Cairo* [Pg. 337]
c) Tripoli
d) Jerusalem

39. The world’s largest refugee population today are the:

a) Kurds
b) Palestinians* [Pg. 337]
c) Circassians
d) Sudanese

Short-Answer

40. What group of people constitutes more than 85 percent of the workforce in Saudi Arabia?

Answer: Guest workers or immigrant workers [Pg. 337]

41. The creation of the state of Israel in 1948 displaced what group of people?

Answer: The Palestinians [Pg. 337]


True-False

42. Fertility rates in North Africa/Southwest Asia are higher than the world average.

Answer: TRUE [Pg. 333]




43. Foreign immigrants make up more than 85% of the labor force on the Arabian Peninsula.

Answer: TRUE [Pg. 337]

44. Due to the presence of Palestinian refugees, Jordanians are a minority in their own country. 

Answer: TRUE [Pg. 337]

45. In general, refugee camps provide above-average social services.

Answer: FALSE [Pg. 337]



Geographic Patterns of Human Well-Being

Multiple-Choices

46. The lowest level of GDP per capita in North Africa/Southwest Asia is found in:

a) Morocco* [Pg. 337]
b) UAE
c) Kuwait
d) Yemen

47. When income-distribution data for a country are not available, the reason is usually that:

a) the governments of those countries do not have sophisticated data-gathering techniques
b) the United Nations withholds the data to prevent political strife within that country
c) data-analysis techniques have made it impossible to compare data sets from one country to another accurately
d) the governments of those countries are trying to hide a high level of income disparity.* [Pg. 337]

48. Which country in North Africa/Southwest Asia ranks highest on gender equality in earned income?

a) UAE
b) Egypt
c) Israel* [Pg. 338]
d) Morocco


True-False

49. The level of a country’s oil/gas wealth almost always translates to a high GDP per capita.

Answer: FALSE [Pg. 337]

50. The countries of North Africa/Southwest Asia come close to gender equity in pay.

Answer: FALSE [Pg. 338]
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